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HRT -1/ PART -1

[3]

[A]

919 fae Td {31eemes / CHILD DEVELOPMENT & PEDAGOGY
[Adsr : [=itee gedl % G737 % [ qa] S [A%e g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frifed & & PM-8 Hebeaw

ey 2@ W § Hafad 7 7

(1) g afH

(2) FeoTeRs St

(3) e famE

(4) Srgdfea ergfpan

BEE & TN f9eE & fasia @
IR STaEr F AY-fER, REEE &
WM b @l il § 8 |
YT & TG § ¢

(1) fqeama s Sfaead

(2) @A I9M 9 Td Hee

(3) UBH I MUY g

(4) EEH S 4fFER 39 (Role Confusion)
fepeTYl 1 78 Hegd HTN A@H A AR
3@ W H A A EE B

(1) AR e

(2) FIEHE 39

(3) UARRTET Tt

4) gt FarEr

AIHgFT  FeR a9 (Applied
Behaviour Analysis or ABA) F=ifd #
A for Rresia ox omefa & °

(1) e Fgdes

(2) fopan oa ergee

(3) dAmdfte s
(4) FRIeTomeTs oIt

a1 AN B g8 HEA
?‘Fﬁ T g | e #
(1) AR s

(2) FAMSH I3

(3) o 3T

(4) SArcIEHEA

5 3
N AT ST
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1.

Which of the following concept is
derived from famous 'Bobo Doll'
experiment ?

(1) Insightful learning

(2) Observational learning

(3) Moral development

(4) Conditioned response

The age range of Genital Stage of
Freud's theory of Psycho-sexual
development is similar to which of the
following stage of Erikson's theory of
Psycho-social development ?

(1) Trust vs mistrust

(2) Autonomy vs shame & doubt

(3) Initiative vs guilt

(4) Identity vs role confusion

The feeling of adolescents, "Everyone is
looking at me", can be termed as :

(1) Personal fable

(2) Imaginary audience

(3) Anorexia Nervosa

(4) Bulimia Nervosa

Applied Behaviour Analysis is based on
principles of :

(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Observational learning

"Young teen-agers often believe that
they are completely unlike any one
else.' This phenomenon is known as :
(1) Personal fable

(2) Imaginary Audience

(3) Self realization

(4) Self disclosure

P.T.O.



[A]

FeoTes Aftrm & 9] 9l B ger

AL 7

(1) S@gM — SR — 9RO &
— Yo

(2) SEYH — gROT BT — JASAEA
— 3TN

(3) SIY — TTHCURT — RO BTl
— TR

(4) @I — GO HET —  SAEROT
— &

freifed & @ @9-a1 ®o9 e &

e o & frsid @ d@ed # @

& 27

(1) 98 39 HgaT W oeid ® %
foepra U STEAd iR 2|

(2) T8 9 AT W T ® 6 o=
e Ug STHETR e R HiEd
2

(3) ¥ 39 THEAT W omHid ? %
foepra w | ufsEAr |

(4) 98 39 THEaT W omEiRg ? %
SIS faeprd = a<on | 2 2 |

Sie 9 (&) @ HeheqaT, T W ©

(1) =T AT &l

(2) fopam 9ga STee &

(3) Sidefte ST

(4) e & fo=ia &

TR Gee U a8 § F qey § 7

(1) a9 FEl PR 1§36 a9 2 |

(2) 3 TR STFRAT BT HHOIX B ¢ |

(3) TERHE YAda fREl AR @l
3% ST & SEih 42 R TR
I HHEMT S 2 |

(4) THEIHEF QT R e @l

HIIX 9T 2 S| &g Rl

SR BT g3 I ¢ |
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[4]

What is the correct sequence of four

elements of observational learning ?

(1) Attention —  Motivation —
Retention — Reproduction

(2) Attention —
Reproduction — Motivation

Retention -

(3) Attention — Reproduction —
Retention — Motivation

(4) Attention —  Retention —
Motivation — Reproduction

Which of the following statement is not

true about the theory of cognitive

development given by Jean Piaget ?

(1) It believes that development is a
discontinuous process.

(2) It assumes that children learn
through assimilation and
accommodation.

(3) It believes that development is a
continuous process.

4 It
development takes place in four
different stages.

believes that  cognitive

The concept of 'Life Space' is a part of :

(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Lewin's field theory

What is the relationship between negative

reinforcement and punishment ?

(1) Both tend to strengthen a response

(2) Both tend to weaken a response

(3) Negative reinforcement strengthens
a response whereas punishment
weakens a response.

(4) Negative reinforcement weakens a
response  whereas  punishment
strengthens a response.



11.

12.

13.

14.

(2) TH I X SEA B

(3) oTafas &9 § d9-9rd & g T
(4) Ufoay da-gls e

frfafag & & @9-ar foeer efffesy
W fegaiEy & fauar 78 & ?

(1) 3= AR G & F=en

(2) AT ST=fhar § T

(3) fees AR AN TR § qHEn
(4) STTATHE /AN FTEN

e ¥ ST99T HiEed WeX deddy 91 A6
foram | St Rl 3 SER T AR g8 9
e B % O 3k & AT H Ul

TEHT HIOT FiRT § 9 B Tl B -

(1) &R

(2) JEdERR e

(3) &u

(4) ULFEA

fr=rifhd ® @ $9-91 FHE A &

gﬁ;ﬁ—ﬁ@ﬁ%%@ﬁ%ﬁﬁﬁﬂﬁﬂ@?

(1) 5= S & @d, o1 gemar &,
T X T ¢, 3¢ B 8¢ d a5

(2) Texs e &1 o=, 39 fosid @
TH G B |

(3) T 9% & SIS [dpre § AT
& T & IUET BT B |

(4) 98 99T faem § 99N U9

TG B R W Td T © |
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10.

11.

12,

13.

14.

[A]

If one activity occurs more often than
another, it can be used to reinforce the
activity that occurs less often. This
principle is known as :

(1) Premack's principle
(2) Thorndike's principle
(3) Skinner's principle
(4) Pavlov's principle

Which of the following is not an
example of fixed interval schedule of
reinforcement ?

(1) Getting salary every month

(2) Dialing a busy number

(3) Having a periodic dental checkups
(4) Getting increment every year
Which of the following option is not a

characteristic of Autism Spectrum
Disorder ?
(1) Problem in vision and hearing

Problem in social interaction

Problem in verbal and nonverbal
communication

Repetitive behaviour

2)
3)

“)

Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
only three digits of her new mobile
number. The cause behind it may be :

(1) Decay

(2) Proactive Interference

(3) Suppression

(4) Regression

Which of the following is not true about

the socio-cultural theory of Vygotsky ?

(1) Children learn very little from
performing tasks they can already
do independently.

(2) Concept of Zone of Proximal
Development (ZPD) is a part of it.

(3) It ignores the importance of
language in cognitive development.

(4) It emphasizes role of socio-cultural
environment in cognitive
development.

P.T.O.
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15.

16.

17.

18.

19.

& & AR & AFAR, Mg § A

T IS & & U S0 787 & ¢

(1) TN (2) faserser

(3) deawor (4) SR

qRask & W-hed dHiedd @ AN [+Fihd

T q H-a1 Y T J@7 e ® ?

(1) AN aREEs

(2) fia

(3) T TN

(4) e ug qur

fPX el & fRarew & dew #

gwm ¥ q 9T FUH G9E T8
,

(1) I 9FFT OF & 06 TR 2|

) famEas & W fReR S gfE
W HI & a8 3% H e 2 |

(3) HH AN % SO SRIG R
e B 2|

(4) 39 IN® & S99 qWRE ha
T B 2|

U AR T HegH HYT © b AT T
S 9T TEq 9 B 9 T2 R 7
7€ Hdd B ¢

(1) HIEF &3F H

(2) AR Hu® A

(3) SH-YR= /9B

(4) UM Ghe A

gl ‘TH B F B8 ud gEl e H
e ToW foeifed ¥ 9 R meR &
35 % gaay e § 7

(1) SUFM - 9REN B8 &l

(2) UER - URER &8 &

(3) JUFH - IUFH &35 Bl

(4) &9 SUFM - UER B8 &I
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15.

16.

17.

18.

19.

As classified by Bloom, which one of
the following is not a subdomain of
cognitive domain ?
(1) Application

(3) Synthesis

(2) Analysis

(4) Responding
Which of the following is not controlled
by pre-frontal cortex of brain ?

(1) Body Movement

(2) Thinking

(3) Problem solving

(4) Vision & Hearing

Which of the following is not true about
Day Dreaming among adolescents ?

€]
2)

It is a form of active play.

The roles adolescents adopt in day
dreaming are heroic.

(3) It involves more physical activity
than mental.

“)

It involves more mental activity
than physical.

A teenager feels that no one has ever
been as deeply in love as he is. It
indicates :

(1) Imaginary Audience

(2) Personal fable

(3) Self identity

(4) Identity crisis

The phrase, 'six on one hand, and half a
dozen on other' best describes which of
the following type of conflict ?

(1
(2
(3)
4)

Approach - Avoidance conflict
Avoidance - Avoidance conflict
Approach - Approach conflict
Double
conflict

Approach - Avoidance



20.

21.

22,

23.

24.

SEASR & ‘TRRfa@E = & R
% AR F=Ied § § -9 d% &
‘Teq & ¥ Hfed 78 © 7

(1) fomme (2) 99

(3) @rgd (4) qfq Ram

TR & 899 4 g § 8 $E-a

Fo TE & 2 7

(1) 72 Read 1 0% TR 2 |

(2) T8 98T IR ¥ gha &Xar 2|

(3) & TF SieH U ¢ |

4) T8 AN F 3T B & QR
T 2

GEEIR F FEg e @

g

(1) o wd |Eae g/

(2) I Td Fed N

(3) e wd gae EN

(4) aTET TF T &

“foepr & 39 O H d= oTONl o,

HM, B UG Y Hdal HW & BN

fefqe & g1

I8 FoE [ifed § 9 fR9 G

frepra @l eTaeen @ Tay AR § 7

(1) Gadl e STaeeT

(2) Y4 SR ST

(3) HoI HRRATHE A

(4) Sfvenies GfpaTcs STaw

=g § 9 fhe d@-otemad @
GRS AT 1T B 7

(1) 31@he foo

(2) FEER wEE

(3) Sito ©d &

(4) dlo Tho R&HX
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[7]

20.

21.

22,

23.

24,

[A]
According to Ecological systems theory
which of the
following does not belong to Macro
system of the child ?
(1) School (2) Values
(3) Laws (4) Customs
Which of the following is not true about

of Bronfenbrenner,

areward ?
ey
2)
3)
4) It is

response.

It is a type of bribe.

It increases desirable behaviour.
It is a pleasant stimulus.

given to strengthen the
The 'investment theory of creativity' is
given by :

(1) Binet and Simons

(2) Carrol and Cattle

(3) Sternberg and Lubart

(4) Watson and Ryner

"At this stage of development, children
think with their eyes, ears, hands and
other sense organs."

The above statement best describes
which of the following stage of
cognitive development ?

(1) Sensori motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

Which of the following is the founder of
Child Study Movement ?

(1) Alfred Binet

(2) Theodore Simon

(3) G. Stanley Hall

(4) B.F. Skinner

P.T.O.
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25.

26.

27.

28.

29.

30.

freifed & @ @9-T fRONEeEr &
auRe fide &1 e 787 8, 9 %
Tdfhrs R 9/ T 8 ?

(1) aTestars

(2) aE-fgare @i ggii

(3) gfserar /s

(4) fafersear %1 ygfd

Frifed & & -9l e Zeee
Awais 78 & ?

(1) Toe qHE

(2) ufEeT

(3) @9

(4) W&

dFe® BN Ry ™ i
Rrgid & ®F-a1 M Qe @bl
HHAT & T ©

(1) I9AT FT 139

(2) AR &

(3) 99 & FIH

(4) T (o) &1 frem

AT uh el T e ©

(1) 3fte qriaer g s=ai & foe

(2) A AT g el & ol

(3) A HABRHOT gl & forg

(4) AT HeHal Ja F=al & AU

¥ gfE # MEaied § 8 S

Hebhad ddrad © 7

(1) & qae 3 103 & 91 BT

(2) WA G Flad e B

(3) S IS U HEAT

(4) TS & ULEq HEE T dl T
BT

UF S BT BT oY Geuel @l
3% Ul YRR ARGl & 99T 39 Igd =Y
T 3T G & A 2| TE FaRIT B
(1) fopam gga STse &

(2) I AT

(3) MOEeTHS I #

(4) dAmfte AR @

[8]

25.

26.

27.

28.

29.

30.

Which of the following is not a form of

immaturity ~ of  thinking  during

adolescence as proposed by Elkind ?

(1) Idealism

(2) Argumentativeness

(3) Assertiveness

(4) Specialness

Which of the following is not a

democratic teaching strategy ?

(1) Problem solving

(2) Project

(3) Discovery

(4) Demonstration

Which law of "Trial and Error' given by

Thorndike is similar to the concept of

'reinforcement’ ?

(1) Law of Use

(2) Law of Disuse

(3) Law of Effect

(4) Law of Readiness

'Modelling' is an effective teaching

method for :

(1) Children with visual impairment

(2) Children with learning disability

(3) Acid Attack Victims

(4) Children with intellectual disability

Which of the following is best indicator

of high intelligence ?

(1) Scoring 103 on an IQ test

(2) Reciting poem from memory

(3) Earning high grades

(4) Not making the same mistakes after
receiving feedback

A child angrily hits a playmate in the

same way that he has been punished at

home. It is an example of :

(1) Operant conditioning

(2) Classical conditioning

(3) Observational learning

(4) Insightful learning

Level-3/3316
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[A]

A (R= @d $i3sh) / LANGUAGES (HINDI & ENGLISH)

[ &1 / HINDI ]

@1 : =i go7] % e @7 @ [T qa8 SfEd [dweq giae

31.

32.

33.

34.

il gfte & ofgeE 9= BifeT
(1) wemEE
(2) @¥fhd
(3) AT
(4) Prar

qfv #1 3fte ¥ org7T faebed gie
(1) @F + 9% = qER
(2) fasg + = = fasa=

(3) TEE + O = TEAAR
(4) 9T + 197 = A

yod St | g faehed e
(1) M1 + =g

(2) 39X + T =Ty

(3) WM + 7 = Afmg

4) fafire + 7 =3

T ogfe § - e o
g7

(1) 9d &1 9oiid = 9 Joiid

(2) 9aT H T Tl el = Y]
(3) @8 Sl =g A AT B = =LA

(4) FHMER % 0 0 = FHERYE

Level-3/3316

35.

36.

37.

38.

Uhae 8 Sgaee a4 9= H o7FTT
Bifeu

(1) sl

(2) Tt

(3) gt

(4) et

e fasbed d ‘o AYET WHM A
R BT B 7

(1) "
(3) Tderd

(2) fefqea

(4) FHSH

FR T FE 29 W & - a9 F 9P
A T
(1) Fyggam=s (2) ANYEIaES
(4) JoHarEh
9w @ § e @ BHE-HE-a
g7

(1) i o) q==

(2) i, g SR FR®

(3) ff oiR #R®

(4) I, aeF Ud gey

(3) u9arEH

P.T.O.
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39. 59 9= ¥ ‘qUivy o A’ &l GINT

40.

41,

42,

TET & 8 7

(1) =M

(2) =B~

(3) THHD

(4) HIT=BrET

TE AR g d Al B B - I
e faQer @ e @ feg sraem @
ara® & 7

(2) ITEE

4) &0 @ B T

(1) etz
(3) I
=1 4 @ fpm foeed & ST aes
e B 7

2 g

(4) g

(1) &g
(3) T

FROBRE P qH G

(1) & G 9 | 2l 2 |

(2) 3 fomr Em M R

(3) afer TS | Feereh Fre 2 |

(4) 39 @Edl B | UF == H 6
goe | T |

[10]

43.

44,

45.

qu-fax @ e | oI faeed

g -

() @ & ©F § I=d & qa9 @1
% I 4 M @Y S@ & ofER
W dH @ #Ead & Se
- ®=&M & S=Ra @
feme =X & am @ M =
FYHRT @ FEA ¢ |

2) FTER @S H TP §; TEE
T @R A T 2 |

(3) o1 @ & I=RT ¥ gar T 9
T g @A g@ A4 e o
S B9 @ & SERe {4y
g & re-qry A § e
g 3% ‘TRIAIa® @ el S 8 |

(4) =8 qoimen § 9 ¥ § & aof o
g e T 8 F F omfe v wmyt
et 2 |

BAAHY SR UH-gE H THH o
Siiad e Bl ST - I e fhd
FT q Gae 8 °

(1) BYegHe s (2) Hred i
(3) 9Mg Aia=q (4) |y aaHe

‘RIS H JETTRA bl gie | H
4 @87 (STRIE) %A are e &

(1) foretea, op¥, aRife], &1o1

(2) &I, ¥, Fdifd, forree

(3) ¥, Fdifd, foase, &

(4) aFAif, ¥, foase, afor

Level-3/3316
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[A]

[ 3T3STl / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Choose the word in which the prefix

dis — is incorrectly used :
(1) Disbelief

(2) Disobedience

(3) Discomfort

(4) Discussion

Complete the sentence using the correct

option :

George has travelled alot. He ............

speak four languages.

(1) may (2) can

(3) need (4) must not

Choose the correct option for the blank

given :

He found her blue ford escort in the car
park. ............ vehicle was locked and

the lights were off.
(1 A (2) An

(3) The (4) zero article

Level-3/3316

49.

50.

51.

52.

They rested when evening came.

The underlined group of words in the

above sentence is a/an :
(1) Adjective clause

(2) Noun clause
(3) Adverb clause

(4) Conjunction clause

Choose the word with the incorrect
suffix 'ship':

(1) Friendship (2) Membership
(3) Relationship (4) Argueship

Which of the options given below is the
correct indirect form of the given

sentence ?

He said, T have passed the examination'.

(1) He said that he had passed the

examination.
(2) He told I have passed.
(3) He said he must have passed the

examination.

(4) He informed us of his passing.

Choose the correct synonym of the

word 'contaminate’ :
(1) Defile (2) Rehabilitate
(3) Detach (4) Valid

P.T.O.



[A]

53.

54.

55.

56.

Choose the correct plural of the word
'species’' :

(1) Specis

(2) Species

(3) Speceis

(4) Specieses

Choose the correct preposition for the

blank given below :

She had great affection ............. her
grandchildren.

(1) within (2) into

(3) against 4) for

The old man was tired of walking.

The underlined word in the sentence is

used as a:

(1) Participle
(2) Gerund
(3) Noun

(4) Adverb

Choose the correct form of the verb :

Gymnastics ............... my favourite
sport.

(1) 1is (2) are

(3) were (4) do

[12]

57.

58.

59.

60.

Choose the correct option of the

underlined phrasal verb :

We must cut down expenses or we will

be getting into debt.

(1) Reduce in size or amount
(2) Appear

(3) Expose

(4) Rise to the surface

Choose the correct form of the verb

'play’ from the options below :

They since four

O'clock.

(play)

(1) have played
(2) will play
(3) play

(4) have been playing

Choose the correct past tense and past

participle of the verb 'Begin':
(1) Began, Begun
(2) Begun, Begun
(3) Begin, Began
(4) Begun, Began

Choose the correct synonym of the

word 'Pinnacle' :

(1) Peak (2) Pass

(3) Foothills (4) Deep

Level-3/3316
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[A]

HET -1/ PART -1l
g 31e9g-1 / GENERAL STUDIES

[ AEITH% JRGdT, difthsh SATRMRIAT G |MT 319 U9 S1R¥sT< / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : =it ged] & 37 @7 % [ qe98 ST [dweT g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

g " 10, 12, 15 qO1 18 &

fwiota 8 aren e ot & B
(1) 876 (2) 900
(3) 981 4) 1024

CHMUTARAND, BH P EIA
H AL ERIFND & 921 C 2, a B
3 E &1 91 95 & 7

(1) A (2) 4w
(3) dfd 4) 4

fepdl wibfcs w1 § 'CERTAIN' &I %e
= 'XVIGZRM!', 'SEQUENCE' & %z
& 'HVIFVMXV' &, @ 'MUNDANE'
9<% I FE BN

(1) NEMWZMX
(2) NFMWMZX
(3) NFMWZMV
(4) NFWMZMV

fr1 § 9§ ®9-91 =5 "DICTIONARY"
% e B JAN HXA §U FgT S S

Tl & 7
(1) RATION (2) DAIRY

(3) NATION (4) ACTION

Level-3/3316

61.

62.

63.

64.

The least perfect square number which
is exactly divisible by :

10, 12, 15 and 18
(2) 900
4) 1024

(1) 876
(3) 981
A is the father of C and D is the son of

B. E is the brother of A. If C is the sister
of D, how is B related to E ?

(1) Daughter
(3) Husband

(2) Brother-in-law

(4) Sister-in-law

In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded
as 'HVIJFVMXV',
'MUNDANE' be coded ?

then how would

(1) NEMWZMX
(2) NFMWMZX
(3) NFMWZMV
(4) NFWMZMV

Which of the following words cannot
be formed by using letters of word

"DICTIONARY" ?
(1) RATION  (2) DAIRY

(3) NATION (4) ACTION

P.T.O.



[A]

65.

66.

67.

68.

69.

70.

zri%P,Qamwrs‘,,Pam 2 S, T
HAE L T, QH I 2, A S S am
9 B 7

() R 2 Q

3) T 4) P

"BRIGHTER" 91 & STeidi & fhad U
fF SfIel oy & 2 § ?

1 4 (2) 2
3) 1 “4) 3
g Lot a q [N g aw

y 5 ’ 7 2y+x
g

1 3
1) — 2) =
()7 ()7

1

- 4 1
(3)3 4)

Uh AYX H, A 9 C & 9 & I

2:18 &% AdB % a9 FET @
3:27%| 3R S K aH T

1,573 @, @l Bl e & e 7

(1) 363 Fo (2) 484 %o
(3) 605 %o 4) 726 %o
U AEH AU G G 14 a9 g H F

g, & a4 dE, IEH AY A g H

AY 1 A BN Al g aaEe g
e 7

(1) 8dy (2) 10 a9
(3) 12 a9 4) 14 a9
S # e gl Hemr S i
10, 12, 28, 90, 360, 1850

1) 12 (2) 28

(3) 90 4) 360
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65.

66.

67.

68.

69.

70.

If P is brother of Q, R is father of P, S is
brother of T. T is daughter of Q, then
paternal uncle of S is :

() R 2) Q

3 T 4) P

How many pairs of the letters does the
word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the English alphabet ?

(H 4 (2) 2
3 1 “4) 3
If £=i, then value of (E_Zy—x}
y 5 2y+x
18 :
1 3
1) — 2) =
(D Z () p
1
3) 3 4 1

In a business, A and C invested amounts
in the ratio 2 : 1, whereas the ratio
between amounts invested by A and B
was 3 : 2. If their total profit is Rs. 1,573.
How much amount B will receive ?

(1) Rs. 363 (2) Rs. 484

(3) Rs. 605 (4) Rs. 726

A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of
his son is :
(1) 8 years
3) 12 years

(2) 10 years
(4) 14 years

Find the wrong number in the series :
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

3) 90 4) 360



71.

72.

73.

74.

75.

28 TH % USh, 42 ¥ & Ui 9 21 H@®
3 USl @ Uk & IR WX 39 YBKR o
T S R s v iR § dad
% & UPR d 9uW d@er H U e | al
el gl #B I & U G dfRE
P GE BN

(1 9 2) 10

3) 11 4) 13

A % = B 8 g U B & = C A
et &, afe Rl g0 &1 C, 54 fee H
T H@ P, A B B o F 9@
F4T ?

(1) 9fe
(3) 12 Hee

(2) 18 e
4) 15 He

e TITER Wie & e Td AOeR
HAM 50% T 20% TG o g, o
g% & § [ I gfa B 7

€] 2)

3) “4)

N|—= W=
Nl Wl

10 @eX 39 | 8% UMl &, TEH b
g gy e e Sed 3w e |
Il 4% T& S 7

(1) 63X (2) 8dex
(3) 10dmex (4) 15 dex
PIiS sinA—cosA=0 g, ar
sin* A+cos* A & A BT
(1) 0 2) 1
1 3
3) 5 4 2

Level-3/3316

[15]

71.

72.

73.

74.

75.

[A]

There are 28 mango trees, 42 apple trees
and 21 orange trees have to be planted in
rows such that each row contains the
same number of trees of one variety
only. The minimum number of rows in
which the above trees may be planted is :
1) 9 (2) 10

3) 11 4) 13

A is twice as fast as B and B is thrice as
fast as C. If some distance is covered by
C in 54 minutes, then in how much time
will B cover ?

(2) 18 minutes

(4) 15 minutes

(1) 9 minutes
(3) 12 minutes

If the length and breadth of a
rectangular plot be increased by 50%
and 20% respectively, then how many
times will its area be increased ?

€] 2)

3) “4)

Nl Wl

10 litres of milk contains 8% water. What
quantity of pure milk should be added to
this mixture to reduce this to 4% water ?

(1) 6 litres (2) 8 litres

(3) 10 litres (4) 15 litres

If sinA—cosA =0, then the value of
sin* A+cos* A is :

(H 0 2) 1

1 3
3) 5 “4) 2

P.T.O.



[A]

76.

77.

78.

79.

80.

U @, HivEd g @l ergyee %
g9¢ H 0 F & SEE 36 gl Hl
et #§ %an%ﬁaum%qfaaﬁ
5 fopddt ufg =ver & g @ s&dr g, o
(LSRR B 1 o o s L 1

(1) 10 FRHt/Amer (2) 12 fFHl/Aver

(3) 13 FRHt/Amer (4) 15 el /Aver

afs el FIe AT F 'pit dar na'
aad ‘GH =S &7, 'dar tok pa'
g “sresT oY gU” 'tim na tok'

e ‘@ g 271 SE AW Y % g
P I= © 7

(I) tim (2) tok
3) na (4) pit
e SR HOqE, IT-UREH &
‘ofye’ ‘Efeo-uiyEm’ @ SR FE

S a9 U AW ol T B, o
‘TAT H FA el S ?

(1) aferor (2) SIR-REH

3) TUC-TE 4) W

TF O 3Rl Hl G 4p3 H 984 S
W TF IR 3R & d& 13q7 T el

213X 13q7, 119 999 &, @ (q—p) F
qM B

1) 8 2) 9
(3) 7 4 11
fRu U e & dqia & T
foeel & wiaeres & fau e el @
el A qYE g
Q7% %3 % ](
(2) —+x=
(4) X+=-—

(1) x++=
3B) +-x=
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76.

77.

78.

79.

80.

A boat covers a certain distance

o1 o
downstream in — hour, while it comes
2

back in 1% hours. If the speed of the
stream be 5 kmph. What is the speed of
the boat in still water ?

(1) 10 kmph (2) 12 kmph

(3) 13 kmph (4) 15 kmph

If in a code language 'pit dar na' means
"you are good", 'dar tok pa' means
"good and bad", 'tim na tok' means
"they are bad". In the same language
which word stands for "they" ?

(1) tim (2) tok
(3) na (4) pit
If 'South-East' is called 'East’, North-
West is called 'West' 'South-West' is

called 'South' and so on, what will
'North' be called ?

(1) South
(3) North-East

(2) North-West
(4) North

A three digit number 4p3 is added to
984 to get a four digit number 13q7. If
13q7 is divisible by 11, then the value
of (q—p) will be :

() 8 ) 9
3) 7 @ 11
Select the correct combination of

mathematical signs to replace '*' signs
and to balance the given equation :

9% 7%2%3%10
) —+x=
@) x+=-

(1) X++=
3B) +-x=



81.

82.

83.

84.

85.

86.

Raarel, ™R 2018 & wREE @« #
o qeh S

(1) @1 Ea

(2) I g

(3) fa™ F=T Fred

(4) dmr i

frfafas & & F9-0 e afedr J
Tfed 78 el § ?

(1) & (2) FHHEEC

(3) 3= (4) g

& R Fd SE J 1857 & shifaemi A
ECET-e e Mo B oo M 2| B

(1) 9aq (2) Uzah

(3) T (4) ARA
STO-2011 & STEUR WX ERATm @
JET FERA X ©

(1) 75.6% (2) 65.9%

(3) 84.1% 4) 71.4%
FrfaRad § & b9 T & |1 R
TET U’ ST || T T © 7

() fed=d g=sT

(i) ITETS

(iii) TeTEI=

(iv) 9STT"

q& ST Y

(D @Tar Gv)  (2) 1) TAT (i)

(3) (iii) T (iv) (4) FAF (iv)

do FHRT M & I} | fr=fareag § 9

BT AT FFT § 7

(1) Jo “HRM M= 3 fda® & 9ed
el | wewayel G e |

(2) e oEd & o S
T § Sl @ U SEEe @
ST T o |

(3) I NaFl ¥ U Aded  Hawr
TRIaTe foha |

(4) 1952 ¥ 1956 T% di {9 99 &
T R©
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81.

82.

83.

84.

85.

86.

[A]
The player who won the Gold medal in
the Asian Games-2018 :
(1) Neha Goyal
(2) Bajrang Punia
(3) Vikas Krishan Yadav
(4) Seema Poonia

Which of the following rivulets does
not converge into Sahibi ?

(1) Dohan (2) Kasavati

(3) Indori (4) Drishadvati

The region in which Colonel Gerrard
led the counter attack against 1857
revolutionaries :

(1) Panipat (2) Rohtak

(3) Mewat (4) Narnaul

The male literacy rate of Haryana as per
the census-2011 is :

(1) 75.6% (2) 65.9%
3) 84.1% 4) 71.4%

With which of the following states, the
"Kalesar National Park" shares its
boundary ?

(i) Himachal Pradesh

(i) Uttrakhand

(iii) Rajasthan

(iv) Punjab

Choose the correct answer :

(1) @) & (iv) (2) (1) & (1)

3) (i) & (iv) (4) Only (iv)
Which of the following statements
about Pt. Neki Ram Sharma is not true ?
(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.

He organized a public meeting of
Gandhiji at Bhiwani during Non-
cooperation Movement.
He published a Hindi
'Sandesh’ from Bhiwani.

He was a Rajya Sabha Member
from 1952 to 1956.

2

(3) Weekly

“4)

P.T.O.



[A]

87.

88.

89.

90.

‘JegrEl foare A AN & R |

Frretferiee semt oX fer=m iy

() Wh fagar & T F faaE 2]
gl,OOO U e feEr o
|

(b) U fauar wfeen & aiffie o T
TRE B9 § FHH B AR |

SEE ¥ & B-A1 #0978 /8 7
(1) Bad (a) T B |

(2) Fad (b) TE 2|

(3) Tl (a) AR T & (b) FE B}

(4) (a) T (b) AT T F |

frfofag & @ ®9-891 ®od ‘9qErr
T AT $ ST a7 & 7
(1) =T (2) o

(3) TR 4) @

Frefafad & & @e-a1 BEa g
geuis (dlo Silo g=go) T & ?

(1) STEs 2) T

(3) HEYXY 4) R

frfcfad @ gafed HifT

Gy ot

A. X ol% uRRRE () HeEs
H dfTead

B. X % Ufmed (i) R
B gy

C. 9G¥ % Ueded (i) 3%
W THeH

D. ges  G-FUT (iv) HE
ECm ATy

e e P
A B C D

(H @ @@ Gi)  Gv)

2 @ (@) @G) Gv)

3) Gv) @y Gi) @)

@) Gv) (@) @G) @

[18]

87.

88.

89.

90.

Consider the following statements about

the 'Mukhya Mantri Vivah Shagun

Yojana':

(a) For the marriage of the daughter of
a widow a grant of Rs. 51,000 is
provided.

(b) The income of such widow lady
must be less than one lac per annum.

Which of the above statements is/are
correct !

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Neither (a) nor (b) is correct.

(4) Both (a) and (b) are correct.

Which of the following crops does not
cover under the 'Bhavantar Bharpayee
Yojana' ?

(1) Sugarcane (2) Potato

(3) Tomato (4) Onion

Which of the following is a Painted
Grey Ware (PGW) site ?

(2) Balu

(3) Bhagawanpura (4) Bhirrana

Match the following :

(1) Banawali

Center District

A. Center of Excellence (i) Kurukshetra

for Vegetable

B. Center of Excellence (ii) Sirsa
for Flowers

C. Center of Excellence (iii) Jhajjar
for Fruits

D. Integrated Bee-keeping (iv) Karnal

Development Center

Choose the correct code :
A B C D

H ® @ G Gv)
@2 ® G @ Gv)
@) Gv) G G @)
@ Gv) @) () (3)

Level-3/3316
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[A]

9 - IV / PART = IV
W@ {99 / CHEMISTRY

A@sr : =i god] % Gav @7 & [T @@ fEd [ g

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93.

94.

95.

Udifeds o @ pka T STEIEH
TIESIFAES & pkb FHAN: 4.76 AT 4.75
2 | omfgm WERe fgas &1 pH anm

(1) 9.51
(3) 7.005

(2) 0.01
4) 2.51

NaCl, HCl T99 NaAc & @@ A, %A
126.4,425.9 @4 91.0 S cm®mol ' &, @
HAC % [T A° &R :
(1) 652.3Scm>mol '
(2) 299.5 S cm®mol '
(3) 390.5 S cm®mol '
4) 217.4 S cm®mol '

gifeesh 0T T el A B

(1) Si<P<Be<Na<Mg
2) P<Si<Be<Mg< Na
(3) Mg<Na< Be<P<Si
4) P<Si<Na<Mg< Be

TeEbd dh & d AEE BT
ferTe &= § TeEhvl-Ae Yahid S 2

(1 0
(3) 2.83D

2) 1.73D
4) 49D

Rate = PZuyp ¢ "R zq gfiator & P
frafig &3 & ¢

(1) wag #I omgh

(2) BfH aE

(3) afpEeT el

4) =

Level-3/3316

91.

92.

93.

94.

95.

The pka of acetic acid and pkb of
ammonium hydroxide are 4.76 and 4.75
respectively. The pH of ammonium
acetate solution will be :

(1) 951 (2) 0.01
(3) 7.005 4) 251

A,, for NaCl, HCI and NaAc are 126.4,
425.9and 91.0 S cm® mol ' respectively,
then A° for HAC is :

(1) 6523 S cm®mol '

) 299.5 S cm®mol '

(3) 390.5S cm®mol '

4) 217.4'S cm*mol '

The order of
character is :

(1) Si<P<Be<Na<Mg
(2) P<Si<Be<Mg<Na
(3) Mg<Na< Be<P<Si
4) P<Si<Na<Mg<Be

increasing metallic

The spin only magnetic moment in

strong Ligand field of d’ ion of
octahedral complex is :

(H 0 (2) 1.73D
(3) 2.83D 4) 49D

Rate = PZu ¢ ““*" in this equation the
P represents :

(1) Collision frequency
(2) Steric factor
(3) Activation energy

(4) Pressure

P.T.O.



[A]

96.

97.

98.

99.

100.

101.

AR Hy(g) + I(g) = 2HI (g)
& AT ReRie Ko 8 a9 SAfiea
Yo Hy(g) + Y2 I,(g) = HI (g) % ArEed
Rl 1 B 7

(1) K 2 |}
C \/K_C
3) K2 @) JKc

frifafad & 9 fFHe ST FIAEX &
T H 2 R 7

(1) gel TherH

(2) Tt

(3) FIAEE Mg

(4) gty Ew=ifer

frfafag & @ aM-a1 {6 @1 FEHe
T B 7

(1) % =i (2) TR

(3) e (4) ThaTEE

fepdl afishar | RS W ORI
Hizel & G H WA B 1Y
TET & S 81 AR # &l w4
Bl 7
1 0
3 2

2) 1
4) 3

e Feq G o o= 3 | HeEEd g
el bl HeA fpa g ?

(1) 3 2) 6
3) 9 4 12
C, % ﬁ&'_sfq ]}l éﬁ % :

(1) a9 o §9

(2) TA © &

(3) TF o X U&F © &9
(4) A ITAEGATE S
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96.

97.

98.

99.

100.

101.

Equilibrium constant for the reaction
H,(g) + I,(g) = 2HI (g) is K¢ then what
will be the equilibrium constant for the
reaction Y2 Hy(g) + V2 I,(g) = HI (g) ?

() K 2 |}
C \/K_C
3) K2 @) Kc

Which of the following is used in curing
Kala-azar ?

(1) Colloidal antimony

(2) Argyrol

(3) Colloidal gold

(4) Milk of magnesia

Which of the following is carbonate ore
of zinc ?

(1) Zinc blends
(3) Zincite

(2) Calamine
(4) Sphalerite

The t 2 of a reaction is doubled as the
initial concentration of the reactant is
doubled. What is the order of the
reaction ?
(1 0
(3) 2

2) 1
4) 3

What is the total number of orbitals
associated with the principal quantum
numbern =37
1 3
3) 9

2) 6
4) 12

The double bond in C consist of :
(1) Both ¢ bonds

(2) Both © bonds

(3) One ¢ and one & bond

(4) Both coordinate bonds



102.

103.

104.

105.

106.

107.

frfafea & 2s werhl @ ol @ gal
AR

(1) H>Na>K>Li

(2) H>Li>Na>K

3) K>Na>Li>H

4) Na>K>Li>H
frfafed § & H9-97 Jad AR § 7
(1) SEHAREHEN

(2) SEURRUEM

(3) ST

4) TR

frefafad & & fhosl  OXEOGEE
T HT A 998 FH BT 8 ¢

(1) Zn (2) Cu

(3) Sc (4) Ni

frfafeg & @ d9-a1 @ader & fae

SR =

(1) I8 ypfa #§ arffafime & 2|

(2) T& IEATH Wal & B § GROMHS
BT 2

(3) TE THEMS §9  FI9 & BT Bl
2

4) T AR 2 |
fopdl faeTa &1 YT g & |y AT

ATAHdT BT A
(1) e 8

(2) Hear B

(3) fer & ?

(4) Ted goar & BT gedr B

g & & feH AG®, E°cell %
qre @ e & 7

(1) AG° =RTIn E°cell

(2) AG° =-RTin E°cell

(3) AG° =nF E°cell

(4) AG° =—-nF E°cell
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102.

103.

104.

105.

106.

107.

[A]

The correct order of energy of 2s
orbitals of the following is :

(1) H>Na>K>Li

(2) H>Li>Na>K

3) K>Na>Li>H

4 Na>K>Li>H

Which of the following is strongest base ?
(1) Dimethylamine

(2) Triethylamine

(3) Ammonia

(4) Aniline

Which one of the following has lowest
enthalpy of atomization ?

(1) Zn (2) Cu

(3) Sc (4) Ni

Which of the following is incorrect for

chemisorption ?

(1) Itis highly specific in nature.

2 It
layers.

results into multimolecular

(3) It is caused by chemical bond
formation.

It is irreversible.

“4)

With dilution the molar conductivity of

a solution :

(1) Increases

(2) Decreases

(3) Remains constant

(4) First increases then decreases

In which of the following AG® is
correctly related to E°cell ?

(1) AG° =RTIn E°cell
(2) AG® =—-RTiIn E°cell
(3) AG° =nF E°cell

(4) AG° =-nF E°cell

P.T.O.



[A]

108.

100.

110.

111.

112.

113.

AlLOy.xH,O €A & ®had § Fr=ifemad
T ¥ freal HOF emdr Jeaa § 7

(1) AP* 2) So;
(3) [Fe(CN)g1*™ (4) Na*

frefafag & ofdy fadiem A @
T HT T

() <F,<Br,<Cl,
(2) I,<Br,<Cl,<F,
(3) IL<Br,<F,<Cl,
4) I,<Cl,<Br,<F,

Nb F1 aEd ol o ©

(1) 4d’,5s' ) 4d’, 55
(3) 4d’,5s° 4) 4d’, 55
SE 1 %e fEE #@ ' d@e @
foeae | o ST a9 gH BN A
R T AT e BT (A AR 63.5u) ?

(1) 635¢
3) 127 ¢

) 3175 ¢
4 lg

16 g 93 & &9 | U< 5t & A ©

(1) 8¢ (2) 16¢

(3) I8¢ 4) 36¢g

THE B U UehiEid o qREcH
frfafied fFa T=IEH E0 99 Bl
g7

(1) A
(3) SEHY

(2) 3acH
(4) SRS
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108.

109.

110.

111.

112.

113.

The flocculating power of which of the
following is highest for coagulation of
Al,O05.xH,0 sol ?

(1) APt 2) So;

(3) [Fe(CN)g1*™ (4) Na*

The correct order of increasing bond

dissociation  enthalpy among the
following is :

() ,<F,<Br,<Cl,

(2) I,<Br,<Cl,<F,

(3) I,<Br,<F,<Cl,

4) I,<Cl,<Bry,<F,

The outer electronic configuration of Nb
is:

(1) 4d",5s'
3) 4d’, 55°

2) 4d’,5s"
@) 4d’,55°
What weight of copper (Atomic Mass

63.5u) deposits when 1 Faraday of
electricity is passed through cupric salt

solution ?
(1) 635¢ (2) 31.75¢
(3) 127 g 4 lg

The amount of water produced by the

combustion of 16 g of methane is :

1) 8¢ ) 16¢
(3) 18¢ 4) 36¢g

Conversion of glucose into ethyl
alcohol is carried out by which of the

following enzymes ?

(1) Maltase (2) Invertase

(3) Zymase (4) Diastase



114.

115.

116.

117.

118.

10 atm 3@ W R omed W & @
dex g w9 § fEa § @ 9@
JHIRG B §, 99 T 3HH Hel AT
10 dleX 9 2l ST | 26 JaReT | fohar
3 o ofrer 2 °

(1) 8L.atm (2) 10L. atm

(3) 80 L. atm @ 0

gid-glice Whd R arg & o1 &H 4
e & 7

(1) Al ) Zn

(3) Fe 4) Cu

TN 15 & ddl & eEgEel § g9d yad
AT ©
(1) NH,
(3) BiH,

(2) AsH,

(4) PH,

Xe %I G e & Hed F gA-1 &
GEl-Il & sy

Q-1 Q-1
(i) XeO,  (a) sp’d® HHIT
(i) XeFg  (b) sp’d T
(iii) XeOF, () sp’d’ &1
(iv) XeF, (d) sp® THI
FT :

i Gy i) @Gv)
1H @ @© @ ®b
2 @ ®d @ (©
G @ © @ (®b
@ @b @ © @

frfafag & 9 ®9-a1 oF faaqas &

JEEA B 7

(1) FHYT H TEgeE 19§ fams

(2) ST H g R

(3) IR FH AETH F T FHEH

(4) FRAEE H TEeeE 9 B A
ERIE
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114.

115.

116.

117.

118.

[A]

Two litres of an ideal gas at a pressure
of 10 atm expands isothermally into
vacuum until its volume is 10 litres.
How much work is done in expansion ?

(1) 8L.atm
(3) 80 L. atm

(2) 10L. atm

“ 0

Hall-Heroult process is related with the
metallurgy of which metal ?

(1) Al (2) Zn

(3) Fe 4) Cu

The strongest reducing agent among the
hydrides of Group 15 elements is :

(1) NH, (2) AsH,

(3) BiH, (4) PH,

Match the List-I with List-Il with
respect to hybridization of Xe :

List-I List -1I

(i) XeO;  (a) sp’d” hybridization
(i) XeF,  (b) sp’d hybridization
(i) XeOF,  (c) sp3d3 hybridization
(iv) XeF,  (d) sp’ hybridization
Code :

1 Gy G aGv)
1H @ @© @ ®
2 @ ®m @ ©
G @ © @ O
@ b @ o @

Which of the following is an example of

solid solution ?

(1) Camphor in nitrogen gas

(2) Glucose dissolved in water

(3) Amalgam of mercury with sodium

(4) Chloroform mixed with nitrogen

gas

P.T.O.



[A]

119.

120.

121.

122.

123.

124.

Z=119 I aw & W TEad anel &
g oRar & g1 @ifeu ?
(1)%@%?%1?'

(2) A a1 nqe

(3) FF= T

4) & grqe

frfoafad & & d9-a1 & faa § 78
g7

(1) XeOF, (2) NeF,

(3) XeF, (4) XeF

frefafed & @ #®9-9 oUENS @l
SYANT B B F BT B ?

(1) QfcaAcEARE Mg SMEs

(2) AIfsTq TREA dehe

(3) ATy Srefdawig dhHe

(4) wefiw Regle

SRaq fafe e o=@ & A § 9
el B 7

(1) Ao (2) TGS

(3) T (4) BEHRE
YRGS AN § Uew: Ud 9Ed
g Reid fFe U gafe B 7

(1) B4=K1+K2+K3+K4
(2) B4:K1XK2XK3XK4
B) By=K -K,-K;-K,
Kyx K,
K, xK;

@) By=

M-3R ®
(1) 3-AR¥ &=
(2) 2,4-SEARE FFN
(3) 2,2,A-STERIA Uved
(4) 4-Bf B
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119.

120.

121.

122.

123.

124.

The element Z = 119 would be placed in
which family of periodic table ?

(1) Halogen family

(2) Alkaline earth metals

(3) Noble gases

(4) Alkali metals

Which one of the following does not
exist ?

(1) XeOF,
(3) XeF,

(2) NeF,
(4) XeF,

Which of the following detergent is
used in hair conditioners ?

(1) Cetyltrimethyl ammonium bromide
(2) Sodium lauryl sulphate

(3) Sodium dodecyl benzene sulphonate
(4) Potassium stearate

Carius method is used for estimation of
which element ?
(1) Halogen
(3) Sulphur

(2) Nitrogen
(4) Phosphorus

The stepwise and overall stability
constants of coordination compounds
are related as :

(1) 64:K1+K2+K3 +K4
(B) By=K -K,-K;-K,
K3xK,

“) B4=K K
2 XKy

The iso-octane is :

(1) 3-methyl heptane

(2) 2,4-dimethyl hexane
(3) 2,2,4-trimethyl pentane
(4) 4-methyl heptane



125.

126.

127.

128.

129.

fauer, foqer—2,4-2aTegsd amdig Fehieo
T e

(1) e fauer-3, 4-SEAR AgRiiee
(2) Fad FHIE-3, 4-SEAA HRHRIEH

(3) SUFT I I SEY qET §
(4) TEFACFIA

Freiiciigd & & foe agereh § Seod
AN et T el & 7

(1) PVC (2) HEAH-6

(3) S (4) TN

59 R oS # &4 AHIGET H agd
Tad ag UAEE omEd 9 STiheRd
fpan St 2 a9 72 Ufeie # uiafad e
ST 21 39 eAfufhar # Hegadt @

(1) gwiEgd

(2) BN HE-gA R

(3) BNA FHE-FOmH

(4) q& T

AU qgie & U fhae fafne
AEN & 7

(1) CFCs 2) N,O
(3) CO, (4) CH,

T "EAA  [Pr(CN),]1>  ome H
YA FAFGAl I FE B

(1) 0 2) 1

(3) 2 “4) 3
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125.

126.

127.

128.

129.

[A]

The thermal cyclisation of trans, trans—

2, 4-hexadiene gives :

(1) Only trans—3, 4—dimethyl
cyclobutene

(2) Only cis—3, 4—dimethyl cyclobutene

(3) Both the above products in equal
amount

(4) Cyclohexene

The highest intermolecular force of
attraction is found in which of the

following polymers ?
(1) PVC (2) Nylon 6

(3) Buna S (4) Neoprene

When an aryl halide is treated with the
very strong basic amide ion in liquid
ammonia, it is converted into aniline.
The intermediate in the reaction is :

(1) Benzyne

(2) Phenyl carbocation
(3) Phenyl carbanion
(4) Free radical

The major contributor to global
warming is :

(1) CFCs (2) N.O

3) CO, 4) CH,

The number of unpaired electrons in the
square planar [P#(CN),] 2~ jon are :

(1) 0 2) 1

3) 2 “4) 3

P.T.O.
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130.

131.

132.

133.

134.

135.

fepe faeTfie &1 &1 § RBC &l g0
H gha qur AEReE @ FEe e @ ?

(1) e K (2) fqeiff = E
(3) faef= B,  (4) faaif= B,
MR MM H1 IS 2
(1) &g

(2) "

(3) fRifest

(4) T, H AT W9H F IJURIT AN

Frfafad & 4 -0 & FHHIRH
arfufear B 7

(1) %9 TSI Foe

(2) DR erffseaT

(3) TMEHM-HIE AHHAT

(4) EHAN SHHES =T SR

frefafed & & frad Br, & 9 & 34
SESTES 3G U 8T § ¢

(1) U228 (2) faue-—2-=dH
3) 1-=H (4) oY

IIEE T b AlfeTH @ P SR

T T TH H T I BT

(1) =i (2) Hfgzm I=iue
(3) et (4) 2

3H T&HM ® AW SaRu ae e
ATIHed § TEEN W e §

(1) 2-dH

2) 1-=dH

3) 2, 3-SEARE-2-=EH

(4) =
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130.

131.

132.

133.

134.

135.

Deficiency of which vitamin causes
increased fragility of RBCs and
muscular weakness ?

(1) Vitamin K (2) Vitamin E

(3) Vitamin B, (4) Vitamin B,

An example of globular protein is :
€]
2
3)
C))

Insulin
Myosin
Keratin

Protein present in hair, wool and
silk

Which of the following is a
disproportionation reaction ?

€]
2
3)
“4)

Cross aldol condensation
Cannizzaro reaction
Gattermann-Koch reaction

Hoffmann bromamide degradation
reaction

Addition of Br, to which of the

following  gives meso-dibromide

product ?
(1) Cis—2-butene (2) Trans—2-butene

(3) 1-butene (4) Propene

Sodium salt of benzoic acid on heating
with sodalime gives :

(1) Benzene
(3) Phenol

(2) Sodium benzoate
(4) Toluene

Name the alkene which on ozonolysis
give acetone :

(1) But—2-ene

(2) But-l-ene

(3) 2, 3—dimethyl but—2—ene

(4) Propene



136.

137.

138.

139.

AT A RRTRINES B diiceeEs
Tl R 1 ATHER B

(1) e iR

(2) TN HrE AfwpaT
(3) e e

(4) HVZ 31iHisean

SRUSIMEE @ & UMeE | stffear
a0 WRHML-OSewT s &1 T8
frfafiad § & fFe 1fafear &1 Seree
g7

(1) IFTcHe SArfepan

(2) TiEREE! gferemas

(3) FAFEE AHS

(4) ZAFTEE fcTas

EEIEIe hl FEMIA fqerE | g9 i
AR o FANEE & A1 ST H
T& 3 ©

(1) Ui

(2) B BT eRITTHN

(3) TSI

(4) USRI

SN STRUSTIEE  HRISAIERE HUX
SuRafd H Wifsgy AEeRe & W™
foee § TRy # W 34T @

(1) TSI

(2) Ui

(3) T

(4) p-UHHT USiie=iie
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136.

137.

138.

139.

[A]

The reaction to obtain benzaldehyde

from toluene by chromylchloride is :
(1) Gatterman reaction

(2) Gatterman Koch reaction

(3) Etard reaction

(4) HVZ reaction

The reaction of diazonium salt with
aniline yields p-aminoazobenzene. It is
an example of which of the following
reaction ?

(1) Addition reaction

(2) Nucleophilic substitution

(3) Electrophilic addition

(4) Electrophilic substitution

The main product of the reduction of
nitrobenzene in neutral solution with

zinc dust and ammonium chloride is :
(1) Aniline

(2) Phenyl hydroxylamine

(3) Azobenzene

(4) Azoxybenzene

Benzene diazonium fluoroborate heated
with aqueous sodium nitrite in presence

of copper gives :
(1) Fluorobenzene
(2) Aniline

(3) Nitro benzene

(4) p-amino azobenzene

P.T.O.
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140.

141.

142.

143.

AfcEe 1 GefiEd @a Ufvkd EaiEs
3 Y TH B W N-Ufcwa Afcrmse
I 2| g8 Frefeiad § @ R wer @
3 1o | e En

(1) RN Ffcremd=
(2) TR IR

(3) FFIER AT
(4) FFITERN TicreTs

Fr=fafa ® | HH-a1 s 99 990
g7

(1) goreiE (2) UfeH

3) H (4) TEew
Frfafaa efsier § 929 SR @

CH3—CHy —CHy —CH—-CHj3 B BN

| KOH
Br

1) CH3—CH2—CH2—CIH—CH3
OH

3)

)

Frfofad # & 399 g § ST i

e 1 el B B § 7

CH,—CH, —CH, —CH, —CH,OH
CH3 _CH2 _CH :CH—CH3

(1) WNivop)6 I+~ > INi(NH)g 12 > [Ni(H20)6 12+
(2) Ni(NO2)6I* ™ <INi(NH3) 12T < [Ni(H20)6 12T
(B) INI(VH3)612T > INi(NO2)6 1Y~ > [Ni(H20)6 12+

(4) INi(NH3)G1T > [INi(H20)612T > [Ni(NO2)614~
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140.

141.

142.

143.

Potassium salt of phthalimide on
heating with alkyl halide gives N-alkyl
phthalimide. It is an example of which

of the following types of reactions ?
(1) Nucleophilic substitution

(2) Nucleophilic addition

(3) Electrophilic addition

(4) Electrophilic substitution

Which of the following is a high

potency sweetner ?

(1) Sucralose (2) Alitame

(3) Saccharin (4) Aspartame

The major product in the following

reaction is :
CH3 — CHy — CHo — CH— CHy —20holic_ 9
[ KOH
Br
CH;-CH,-CH, —CIH—CH3
OH
CH3 _CH2 _CH2 —CH :CH2
CH;-CH,-CH,—-CH,-CH,OH

CH3_CH2_CH:CH—CH3

ey

2
3)
“)

Which of the following is the correct
order for the wavelengths of absorption
in the visible region ?

(1) wivope*™ > NiNEDEI > NicH20)612
(2) WNiNO2)61* ™ <INi(NH3) 12T < [Ni(H20)612*
(B) ININH3)612T > [Ni(NO2)61* ™ > [Ni(H20)6 12+

(4) NI(NH3)6 12T > INi(H20)612T > [Ni(NO2)6 1%~



144.

145.

146.

147.

Ce®™ X yp*, UV 89 8 yad gy
Tl 9 g1 Fefafeg § 9 -
P01 Thd fou TEr 78 2 7

(1) 4f § 5d ¥ GHAT & BT
) Al=1

(3) 3T AT | Iogel B ST I
AT %l e | HST B |

4) f-d frEx fowa B

DNA &7 H sy Adfer 398 © ¢

(1) B-D-2 featiai=ara

(2) B-D-T=E

(3) B-D—gHIarE e

(4) B-D-FIRRAE

frfafeq fra ofwers & difem
TP erde & YA fRar o @ 7

(1) 2T AfeRH®
(2) I AEdE
(3) BT A
(4) BT B

frifafad & & SF-81 &9 Sy’ frafafy

% foq @al e !

(1) 999 95 MG e I H e
2l

) fadm v& 4 ol #@ge 4w @
TTEBAYT 3T © |

(3) T&T fa=rd @ uelies & 2 |

(4) TE TG ARl hAmRE W
STEHAY HAT B |
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144.

145.

146.

147.

[A]

Ce™ and Yb** show strong absorption in
UV region. Which of the following

reason is not correct for it ?
ey
2
3)

Transition occur from 4f to 5d.
Al=1

Promotion of electrons in these

ions is difficult than for other ions.

(4) f-d peaks are broad.

The sugar moiety present in DNA
molecule is :

(1) B-D-2 deoxyribose
(2) B-D-ribose

(3) B-D-Glucopyranose
(4) B-D—fructofuranose

In which of the following reagent
sodium potassium tartrate is used ?

(1) Tollen's reagent
(2) Bayer's reagent
(3) Fehling A
(4) Fehling B

Which of the following statement is

correct for Sy’ mechanism ?

(1) The first step is dissociation into an
intimate ion pair.

2

In second step the leaving group

attacks from back side.
3)
4

There is inversion of configuration.

An external nucleophile attacks the

substrate.

P.T.O.
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He2T /H*

148. HC=CH+H0—*——— TR

149.

150.

F IS BT :
(1) CH;CH,OH
(2) CHz- ﬁ_ CHj
0]
CH; - ﬁ_ H
0
CHs - Icl’— OH

0

3)

“)

frfafad & @ HF-a1 HUF STEamii
S9Es & NMR @aeq & [T @&l s ?

(1) B: Hgd WS &1 Saeuel 3= &
T oTar B

(2) Twd W H STEMTT I=d &7 |
3T B |

(3) THA WS ® Q@AM e H
fomfea & 2|

(4) B: BRI T BT AT Fee J
fomfea & 2|

Frefofed & & @m-ar Sarwy
yferstarey & ?

(1) 2Ty

(2) AR

(3) THHIIEHEEE

(4) utrafe

[30]

148.

149.

150.

HeZt /HT

HC=CH + H,0—%—1— the

product of the reaction is :
(1) CH,CH,OH
(2) CH3- ﬁ‘— CH;
)
(3) CH3- ﬁ'— H
o
(4) CH3- ICI’— OH
o

Which of the following statement is
correct for NMR spectrum of isopropyl

bromide ?

(1) Absorption by six methyl protons

appear up field.
2

Absorption of lone proton appears

up field.

(3) Absorption of lone proton splits

into quartet.

(4) Absorption of six methyl protons

split into quartet.

Which of the following is bacteriostatic

antibiotics ?

(1) Tetracycline

(2) Ofloxacin

(3) Aminoglycosides

(4) Penicillin
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Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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